Pay Estimate Created Date: August 1, 2024

Progress Estimate Number 5		Contract ID Prime Contractor	240119-D06 Gene Haile Ex	cavating, Inc.	Pay Period Start Pay Period End		Original Contract Amou Net Change Order Amou Current Contract Amour	int \$0.00				
Approval Date								By User				
August 1, 2024			Generated ar	nd Approved (a	and should be consi	dered Draft) at th	ne Project Office Level by	ackert1				
August 2, 2024		Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by kronej										
August 5, 2024		Reviewed and Approved at the Central Office Controllers Office Level by ramses										
Original Com	pletion Date	Current Com	pletion Date	Actua	I Completion Date	% o	f Current Contract Amou	nt Complete				
Decembe	er 1, 2024	Decembe	r 1, 2024	88.31%								
C	ontract Informatio	onal Dates		Milestones								
Date Description	Original Completion D	Current ate Completion		e Description	Original Completion Date	Current Completion		n Diary Charge Days				
Acceptance Date				stone - ndar Time			024	22				
Awarded Date	February 14, 20	24 February 14,	2024									
Letting Date	January 19, 202	24 January 19, 2	024									
Notice to Proceed Date	March 4, 2024	March 4, 202	4									
Open to Traffic Date												

Contract Total Pay For Estimate No. 5										
		This Estimate	Previous	To Date						
240119-D06										
	Total Posted Items Pay	\$100,999.00	\$324,596.25	\$425,595.25						
	Gross Item Adjustments	(\$3.07)	\$0.00	(\$3.07)						
	Incentive	\$0.00	\$0.00	\$0.00						
	Disincentive	\$0.00	\$0.00	\$0.00						
	Liquidated Damage	\$0.00	\$0.00	\$0.00						
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00						
	2		\$324,596.25	\$425,592.18						
Contract Total Pa	ayable This Estimate:	\$100,995.93								

Items Paid This Estimate Period

June 4, 2024

June 4, 2024

Work Began

Date

Project Number	Line Number	Item Code	Item Description	Current Installed Amount					
J5S3461	0010	2022010	REMOVAL OF IMPROVEMENTS	LS	\$2,500.000	0.25	\$625.00		
	0020	2071000	LINEAR GRADING CLASS 1	STA	\$2,500.000	0.8	\$2,000.00		
	0040	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	SQYD	\$19.000	195	\$3,705.00		
	0050	4039905	MISC.OPTIONAL PAVEMENT	SQYD	\$150.000	195.2	\$29,280.00		
	0120	6181000	MOBILIZATION	LS	\$36,500.000	0.75	\$27,375.00		
	0150	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	LS	\$3,000.000	1	\$3,000.00		
	0230	7034219A	TYPE D BARRIER	LF	\$82.000	427	\$35,014.00		
Project J5S34	61 - Total						\$100,999.00		
Overall - Total									

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

	Aujusti	nents mis Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J5S3461	0040	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)			Reference Item Price Adjustment Index Adjustment Type applied is FUEL	195	\$0.00	(\$0.61



Pay Estimate Created Date: August 1, 2024

Progre		mate Number 5	Contract ID Prime Contr	24011 ractor Gene	9-D06 Haile Excava	ting, Inc. Pay Period End August 1, 2024 N	riginal Contra et Change Or urrent Contra	der Amount	\$481,924.00 \$0.00 \$481,924.00	
Project Number	Line No.	Item Desc	ription	on Adjustment Type		Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount	
J5S3461	0040	TYPE 1 AGGR BASE (EGATE FOR 4 IN. THICK)	Material			-195	\$19.00	(\$3,705.00)	
	0040	TYPE 1 AGGR BASE (EGATE FOR 4 IN. THICK)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user ackert1 overridding Payment Estimate Exception 1 on the current Payment Estimate.		\$19.00	\$3,705.00	
	0050		MISC.	Other Item Adjustment	Fuel Price	See Price Adjustment for fuel index worksheet			(\$2.46)	
	0220	SLA	B ON STEEL	Material			-601.35	\$375.00	(\$225,506.25	
	0220	SLA	B ON STEEL	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user ackert1 overridding Payment Estimate Exception 2 on the current Payment Estimate.		\$375.00	\$225,506.25	
	0230	TYPE	D BARRIER	Material			-427	\$82.00	(\$35,014.00)	
	0230	TYPE	D BARRIER	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user ackert1 overridding Payment Estimate Exception 7 on the current Payment Estimate.		\$82.00	\$35,014.00	
Total	· · ·								(\$3.07	



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information											
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work							
J5S3461	FAS S402(82)	Bridge deck replacement	Ρ	HOWARD	over Bonne Femme Creek near New Franklin							
Totals by 、	Job Numbe	rs										
J5S3461		d Item Pay Item Adjustm		s Item Pay	This Estimate \$100,999.00 (\$3.07) \$100,995.93	Previous \$324,596.25 \$0.00 \$324,596.25	To Date \$425,595.25 (\$3.07) \$425,592.18					
	Liquio	tive centive lated Damage: Contract Adju		i	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00					



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J5S3461, Item 3040143, Project Item Line Number 0040, Material Set 304014396, Material 0304SBT15KP - Compacted Type 1 & 5 Base, Acceptance Action Generic 0304SBT15KP is insufficient.	Working to resolve these materials discrepancies with contractor and CD materials.	ackert1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3461, Item 7034212, Project Item Line Number 0220, Material Set 703421296, Material 0705DPRCPS30 - Prestress Conc Deck Panel 3" (75 mm), Acceptance Action Generic 0705DPRCPS30 is insufficient.	Working to resolve these materials discrepancies with contractor and CD materials.	ackert1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3461, Item 7034212, Project Item Line Number 0220, Material Set 703421296, Material 0501CCB2MDA - Concrete, Modified B-2 w/Air, Acceptance Action Generic 0501CCB2MDA is insufficient.	Working to resolve these materials discrepancies with contractor and CD materials.	ackert1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3461, Item 7034212, Project Item Line Number 0220, Material Set 703421296, Material 1036RSDFEC42M13 - Rein Steel EC No. 4/M13 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Working to resolve these materials discrepancies with contractor and CD materials.	ackert1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3461, Item 7034212, Project Item Line Number 0220, Material Set 703421296, Material 1036RSDFEC42M22 - Rein Steel EC No. 7/M22 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Working to resolve these materials discrepancies with contractor and CD materials.	ackert1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3461, Item 7034212, Project Item Line Number 0220, Material Set 703421296, Material 1036RSDFEC42M25 - Rein Steel EC No. 8/M25 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Working to resolve these materials discrepancies with contractor and CD materials.	ackert1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3461, Item 7034219A, Project Item Line Number 0230, Material Set 7034219A96, Material 0501CCB1.A - Concrete, Class B-1 w/Air, Acceptance Action Generic 0501CCB1.A is insufficient.	Working to resolve these materials discrepancies with contractor and CD materials.	ackert1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3461, Item 7034219A, Project Item Line Number 0230, Material Set 7034219A96, Material 1036RSDFEC42M13 - Rein Steel EC No. 4/M13 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Working to resolve these materials discrepancies with contractor and CD materials.	ackert1	Overridden

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Im.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
40119-D06	J5S3461	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$2,500.00	\$2,500.00
		0001	0020	2071000	LINEAR GRADING CLASS 1	0.80	0.00	0.80	STA	0.80	\$2,500.00	\$2,000.00
		0001	0030	2159910	MISC.SHAPING SLOPES CLASS III - MODIFIED MATERIAL REQUIREMENT	4.00	0.00	4.00	100F	0.00	\$1,750.00	\$0.00
		0001	0040	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	195.00	0.00	195.00	SQYD	195.00	\$19.00	\$3,705.00
		0001	0050	4039905	MISC.OPTIONAL PAVEMENT	195.20	0.00	195.20	SQYD	195.20	\$150.00	\$29,280.00
		0001	0060	6113020	FURNISHING TYPE 2 ROCK BLANKET	186.00	0.00	186.00	CUYD	186.00	\$43.00	\$7,998.00
		0001	0070	6113040	PLACING TYPE 2 ROCK BLANKET	186.00	0.00	186.00	CUYD	186.00	\$16.00	\$2,976.00
		0001	0080	6161005	CONSTRUCTION SIGNS	144.00	0.00	144.00	SQFT	144.00	\$21.50	\$3,096.00
		0001	0090	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	2.00	\$50.00	\$100.00
		0001	0100	6161030	TYPE III MOVEABLE BARRICADE	10.00	0.00	10.00	EA	10.00	\$160.00	\$1,600.00
		0001	0110	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$3,250.00	\$6,500.00
				6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$36,500.00	\$36,500.00
		0001	0130	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	588.00	0.00	588.00	LF	0.00	\$3.00	\$0.00
		0001	0140	6240104A	SEPARATION GEOTEXTILE	280.00	0.00	280.00	SQYD	280.00	\$3.00	\$840.00
		0001	0150	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$3,000.00	\$3,000.00
		0001	0160	8061005	ROCK DITCH CHECK	40.00	0.00	40.00	LF	0.00	\$25.00	\$0.0
		0001	0170	8061016	SEDIMENT REMOVAL	4.00	0.00	4.00	CUYD	0.00	\$100.00	\$0.0
		0010	0180	6061060	MGS GUARDRAIL	100.00	0.00	100.00	LF	0.00	\$32.00	\$0.0
		0010	0190	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	0.00	\$4,210.00	\$0.0
		0010	0200	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	0.00	\$3,564.00	\$0.0
		0070	0210	2162500	REMOVAL OF EXISTING BRIDGE DECK	5,251.00	0.00	5,251.00	SQFT	5,251.00	\$6.00	\$31,506.0
		0070	0220	7034212	SLAB ON STEEL	633.00	0.00	633.00	SQYD	601.35	\$375.00	\$225,506.2
		0070	0230	7034219A	TYPE D BARRIER	427.00	0.00	427.00	LF	427.00	\$82.00	\$35,014.00
		0070	0240	7121159	SHEAR CONNECTORS	1,596.00	0.00	1,596.00	EA	1,596.00	\$6.50	\$10,374.00
		0070	0250	7123610	SLAB DRAIN	40.00	0.00	40.00	EA	40.00	\$375.00	\$15,000.00
		0070	0260	7125102	SURFACE PREPARATION FOR APPLYING EPOXY-MASTIC PRIMER	1.00	0.00	1.00	LS	1.00	\$4,000.00	\$4,000.0
		0070	0270	7125961	GRAY EPOXY-MASTIC PRIMER	1.00	0.00	1.00	LS	1.00	\$1,250.00	\$1,250.0
		0070	0280	7126000	NON-DESTRUCTIVE TESTING 19.00 0.00 19.00 LF 19.00 \$150.00							
	Project J	5S3461 - To	otal Value	Posted to D	ate as of Report Generated Date							\$425,595.2
40119-D06 Ove	rall - Total	Value Pos	ted to Da	te as of Repo	ort Generated Date							\$425,595.2



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project:	J5S3461											
Line Number	ltem Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	2022010	REMOVAL OF IMPROVEMENTS	7/29/24	7/29/24	0.25	LS	finish paying out removal of improvements.					
0020	2071000	LINEAR GRADING CLASS 1	7/30/24	7/30/24	0.80	STA	Linear grading for guardrail.					
0040	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	7/19/24	7/22/24	195.00	SQYD	Under the optional pavement on both ends of the bridge.					
0050	4039905	MISC.	7/22/24	7/24/24	97.60	SQYD	Optional pavement from STA 391+83 to STA 392+23					
			7/23/24	7/24/24	97.60	SQYD	STA 389+35 to STA 392+23					
0120	6181000	MOBILIZATION	7/30/24	7/30/24	0.75	LS	More than 50% of the original contract amount has been completed. Paying out mobilization as per section 618.2.2 of the Missouri Department of Transportation Standard Specifications.					
0150	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKI	7/30/24	7/30/24	1.00	LS	All of the surveying and staking has been completed.					
0230	7034219A	TYPE D BARRIER	8/1/24	8/1/24	427.00	LF	Type D barrier on the bridge A07241	389+70 approx	Left and Right	391+85 approx		

The information below this line are details for Construction Signs (if applicable). No Data Available



Line Item Adjustments by Estimate

Contract ID: 240119-D06

Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks			
				Туре								
J5S3461	0040	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	Material		5	Aug 1, 2024	SYSTEM	\$3,705.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user ackert1 overridding Payment Estimate Exception 1 on the current Payment Estimate.			
		IN. THICK)			5	Aug 1, 2024	SYSTEM	(\$3,705.00)				
				- Total				\$0.00				
			Material - To	otal				\$0.00				
			Price FUEL		5		SYSTEM	(\$0.61)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL			
				- Total				(\$0.61)				
			Price FUEL	- Total				(\$0.61)				
	0040 -	Total		_				(\$0.61)				
	0050	MISC.	Other Item Adjustment	FUEL	5	Aug 1, 2024	ackert1	(\$2.46)	See Price Adjustment for fuel index worksheet			
				FUEL - Tota	I			(\$2.46)				
			Other Item	Adjustment -	Total			(\$2.46)				
	0050 -	Total						(\$2.46)				
	0220	SLAB ON STEEL	Material		3	Jul 1, 2024	SYSTEM	\$71,250.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user winton1 overridding Payment Estimate Exception 1 on the current Payment Estimate.			
					3	Jul 1, 2024	SYSTEM	(\$71,250.00)				
								4	Jul 15, 2024	SYSTEM	\$225,506.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user egglew1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
								4	Jul 15, 2024	SYSTEM	(\$225,506.25)	
										5	Aug 1, 2024	SYSTEM
					5 Aug 1, SYSTEM 2024		(\$225,506.25)					
				- Total				\$0.00				
			Material - To	otal				\$0.00				
	0220 -	Total						\$0.00				
	0230	TYPE D BARRIER	Material		5	Aug 1, 2024	SYSTEM	\$35,014.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user ackert1 overridding Payment Estimate Exception 7 on the current Payment Estimate.			
					5	Aug 1, 2024	SYSTEM	(\$35,014.00)				
				- Total				\$0.00				
			Material - To	otal				\$0.00				
	0230 -	Total						\$0.00				
	0240	SHEAR CONNECTORS	Material		2	Jun 17, 2024	SYSTEM	\$10,374.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user winton1 overridding Payment Estimate Exception 1 on the current Payment Estimate.			
					2	Jun 17, 2024	SYSTEM	(\$10,374.00)				
				- Total				\$0.00				
			Material - To	otal				\$0.00				
	0240 -	Total						\$0.00				
J5S3461 -	Total							(\$3.07)				
Overall - 1	Total							(\$3.07)				



There are no contract adjustments to display for this contract.